
LO: I can find a fraction of a set of objects. 

SC: I know that the denominator (bottom number) tells me how many groups to divide into. 

       I can share out the total number equally. 

       I know that the numerator (top number) tells me how many groups to count up. 

 

1) 1                                2 

3   of 18  =                 3 of 18 =   

 

2) 1                                3 

4   of 16 =                   4 of 16 = 

 

3) 1                                2 

5   of 30 =               5 of 30 = 

 

4) 1                                2 

8   of 24 =                 8  of 24 = 

 

 

Challenge: 

1) There are 12 hearts.  What is ¼ of this number?________ 
 

 

 

 

2) Work out what 1/3 of the amount of bananas is.  Put a circle around 
this amount. 

 

How many would 2/3 of the bananas be? ________________ 

 

 

 

 

 


